1.

ST 645y v R XK 15
HXATF 4 < e _ STRLEE
S (TR wass @M m oW g [P ACEERTEECEA RS
| FEETEE [ikcg A ’ | ’ i ’ ’
1 JREEEARIYEMERO T RE | — | BEH |7 bk e e T e
HEEATRRR X 0 Lo s
2 EREEIA O 50 | 1.1 |7 bR LI e YA
T LT R
1 REEHRBAE PN O 2 A —t 9. U 8.3 —|  —
2 _ERELIAF DR 40 | L1|% 9.g% 9.8% 19+ 19
HERTALL [iRcaR %
1 ﬂéiﬁﬁ%i%ﬁ@%ﬂ%%ﬁﬁﬁi& fEg) | fER fER fES
2 kLA o 50 1. 1 [T b 28T b BT b e b T
TR AR X g
1 REERE N o 2 A O —t o8 18l 9.9 | —
2 LELU OISR 40 | L1|F o0 129 19 19
H R 2 b X g
1 Eéﬁﬁ%i%ﬁ@%ﬂ%%ﬁﬁﬁf& ST 1 2 1 1 e 11
2 JREMEEAMREDERILOT RE | — | BEHR |1 bk BT L3 b 2 L o
HEEAETERAR & 0 AR o> Mgk
3 LRERIAh oD e 50 OO i = i = =
A LA KR
1 BREEIREME P 0D B T i —d 720 9.0 —| —
2 kRERLASh o Mt 40 | 11| 7.9 1 17 17
T 4 kel B0 | 1.1 [T b ¥t b e b T L
A AR Kk
1 BEEEREHIE P o A K0 o 7UE 8.3 | —
2 ELS o 40 | L1 7.8 9.6F 19h 19
N A o SR B g PN oD f P A XU —Hl 8.5l 11— —
EEELIA o il 40 | L1|foogf 17t 27 27
5| Wil % SR BT PN oD S A I —ft 8. 5r’@ 9.8 —| —




&F0 645y i = X °H
HXATF 4 < e _ STRLEE
S (TR wass @M m oW g [P ACEERTEECEA RS
2| Wil EEELIA o> iU 40% 1.1:: 9.;{3 1% 2%: 2f7 i
¥ b Xk — | BEAR (T LE T b L T L
AT {L A X
1 EREiR B s Py o 2 R il KO —fti 8. e 100 —| —
2 FEREAAh o Mgk 40 | L1 9. 4E 18 27 27
Z| @ 1~4TH I — | BEBR (v e M B b T b
+5 WP N P 1 BRI P o P ) X o —ft 8. 4l 9.5  —| —
EFRLIA o Hitkek 40 | L1|% .4 16 25 25
P oI} S B b 3k P oD R L R o 9. gpn 120 | —
EELIA O Hi 40 | LO|4 9.3 19% 25 25
I b X
1 BN — | R [ T Bl b T L
2 FEOLISN O HR 50 | 1.2 [f7 B HET EL YT P T EL B
[iReaR ok dme
1 REIREHRIE N 0 B i 780 8.8 —| —
2 bRELSt o 40 | L1 9.6 167 27 27
Dy B Eee: — | B |7 Sk HET H HET e HE b EE
TR = SR BLHIT PN oD J= M XA —#l 8.5 9.5 — —
EFRLASN O HiiEk 40 | 1L.1|F 9.0 16 25 25
& HE bR
1 Bl — | B [T LT T b T b
2 kELUSOHIR 50 | 1.1 (F7 bk HEAT bR YT b T L T
AL [R5
1 BEEEREHIE P o A K0 o 7. 30 8.2 | —
2 ELS o 40 | L1 7.6 16F 28fh 25
Il E R i Ik
1 géiﬁﬂﬁ%tf&ﬁ@%ﬁ%%ﬁﬁﬁﬂ 01 I8 1 51 1 A 51
AN s (0 URD i :4:5 O O 7.3 L 07 [0 2 = [ D [ s




ST 645y i = X 3E
RO H 4 ;W —___ DOREHE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e & & ﬁ-f 7 #
Il HR AT LR
1 BEEREUIEL P o B A X —Wl 7.5 8.3 —| —
2 _LELLIS oM 40 | L1 76 17 osfh 25
&| = [k (A% — | BEHR [T LT YT b T b B
A% Xk
1 FREERBE N o B A Hh O W74 5.6 0 —| —
2 kLo 40 | L1 ggff 19 18fh 15
U AHE [EEcaRIAESET
1 SRR — | B (i LT PR L YR PR TR
2 WEF TN 50 | 1.2 Fﬁth@lﬁnﬁtt@ﬁtﬁ%ﬁth@
3 LRt otk 50 | 1.1 |7 EeuETT He e b T e T
T A R ik
1 §F42%mw\ﬁﬁﬁﬁﬁwﬁﬁ
(1) FE3eiRmERm o 2 A H IR M7 4 5.6 | —
(2) kLSO 40 | L2|P 8.5 12% 14 14
2 ERRES O HE
(1) FEREdRBUHERr o 2 F i pCIs W74 5.6 —|  —
(2) _ERELASh D HE 40 | L1|d 8.5 124 14 14
BT kR 50 1. 2 |7 EL 8T LI e AT LR 4
T A g
1 RIS o B2 T K I BoT.eME o100 | —
2 _EFLSh oM 40 | L2|F 7.9 18F 27F 27
FETm R AR LRI
1 AR — | BEHR (T PR HERT P HET S e v
2 LRELIA o Mt 50 1. 2 (v L YET EL e b e HL T
T L X
1 REERE N O 2 K I —el 8.6t 8.8 —| —
2 LU O MR 40 | 1.1 ng_j: 16/f 27 27




ST 645y i = X 1H
AT : W _ UATIRISE
S (TR wass @M m oW g [P ACEERTEECEA RS
Uz - s TR e 7 %ﬁ%‘rﬁttzfgfﬁtﬁgﬁ%éﬁith%
HTATIE R Ecei — | BE#R (7T Eb BT PR b T b T
Ll LEH1TH (kR |MEe: — | B&HR (v b T P L Y bR
TR b A X Ja 40 | L1|d oo 17 27 27
LEDH3TH Eeit — | B&#R (i P T PR YR P T
3 i LIk 50 1.1 Fﬁtﬂ%‘ﬁtﬁ%ﬁhﬁ’éﬁtt@
AT LA DI
1 BEETREL g PN o B A —#l 6.2t 8.5 | —
2 LRELU o i 40 | L2|4 6.9 18+ 15 15
H B 2~4TH ki — | BRAR (T Pl T b YT b Y b T
o A EeA T TG 5 K P e S AT XY 5| R Ep] EE E5
LFRLLA o> it
1 REERE MG o 2 DO —fti 7.4 8.5 —| —
2 _ERLEA iR 40 | L1|% 7.8 184 154 15
| BRI 2 R BTN oD 2 F L X3 —l 9. 300 12 —| —
ERELAS 0 Hit 40 | L1 9. j: 184 254 25
Dl P& B TR LI PN oD 2 T X —l 9. 308 12 —| —
EFERIA D HirE 40 | 1.2|H 9 4[: 180 28 25
| B [iEkcplaEe: — | B [T LY LT e T b
T LR I
1 FREEIREMG N o B A K —p#E 7. 8% 8.0 — —
2 RERLS O 40 | L1|h 7.9 16 25 25




